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Answer the Questions from any one Option.

OPTION-A
Paper : BOT-RE-5016
(Cell and Molecular Biology)

OPTION-B
Paper : BOT-RE-5026
(Economic Botany and Biotechnology)

OPTION-C
Paper : BOT-RE-5036
( Genetics and Plant Breeding)

Full Marks : 60

Time : Three hours

Thé figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
BOT-RE-5016
(Cell and Molecular Biology)

Paper :

1. Answer the following questions : 1x7=7

weTe WAl empTes Ted B ¢

(i) What is the light source of Phase€
Contrast Microscope ?

(TG TG SR Tgo T O Hfd (oI

BIGEAS RS ROtk

(ii) Who proposed, “Protoplasm is the basis
of life”? _
o5l SIRE SR — (I ey Brad
Ffafeet? |

(i) In which stage of meiosis, synap31s at
two homologous chromosomes is taking

place ?
Grerfen (1T Roleed (P! ™Ie SCANG I
e YU b AT 2

(iv) Name the substance responsible for the

switching ‘on’ and ‘fo’ of the ‘ac’

operon.
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Jac’ STE SR Ny T3 &= faras
SIS (on)” N TH (off)’ FE?

(v) Write the name of an enzyme, which is
used during DNA transcription.

%.q9.9.F (GHAfE N e IR ([ af[y
- e A ol |

V/\ (i) Mention one important function of
I - 5
| \};; Lysosome.
ho® /) AEE @b wEER i
N S
b $4 :
N L.~ (vii) ‘Grana’is associated with which of the
9 cell organelles ?

: (@9 @0 S5 (organelle) I Ce ‘(24

GTT‘@' 9 ¢

| 2. Answer the following questions : 2%x4=8
5 ool eRPTTRd Ted fordll

(i) Write the salient features of ‘cell theory’
proposed by Schleiden and Schwann.
TG OF (RRIE SRR @sravia’a I
fpT )
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(i) What is plastid ? Mention different types
of plastids found in plant cells.
2T 2 Sfenceve e [ien avie 2iftes
a1 o

(i) What do you mean by ‘semi-
conservative’ mode of DNA replication ?

DNA-¢ G533 Sgeias i e

(iv) Write the various functions of cell-
- membrane proteins.

QIR 4 e SR il

Write short notes on any three of the
following : 5x3=15

wete WAl Rizerca fefabia vy Oes o7l 8

(i) What do you mean by genetic code ?
Discuss the main features of genetic

code.

fErmoe 3T e & 3o e $o1 g4+

aPETE fera |

(i) Draw and describe the ultrastructure
~ of mitochondria. '

g i ZHHGARF A9 It 7 |
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(iii) What‘do you mean by genetic
mate-rlals ?  Explain the Griffit
CXperiments to prove DNA g i
material. TR

%ﬁﬁﬁﬁmﬂmﬁswmmﬁmﬁamqf

ﬁwqwmmaww;

(iv) Describe David Robertson’s Unit
membrane model of plasma membrane

(OISR FMBET (PRI I Sp ¢
R SR R B il

(y} What are the applications of
*/  Fluorescence microscopy in cel]

biology ?

W@ﬂﬁ'@ﬂ@ Ao NRECFIPR ST o

Answer any three of the following
questions : 10x3=30

TS SO 9 SPTIRA Rzt fofra Teq fos g

()  Who invented electron ‘microlscope ?
‘ W.rite the working principle of electror;
microscope. Mention the varioys parts
of electron microscope and also mention

two types of electron microscope.
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(1)

(iii)

(iv)

T TR T (I e SR 2 2
BRORINRT! T 1 | BreTE SR TEE SIHPTR
TR #9000 72 2T 2reTan A e g9
R

Describe in details of miotic cell division
found Write
differences between mitosis and

in eukaryote cells.

meiosis.

FCPRCTL [ (B 12D T2 (I Refems K
foral | W25 R oI ferfew @ Reterm Siers

L ereneTE. ol |

Describe chemical composition of
nucleic acid. With diagram briefly
describe the Watson-Crick model of
DNA.

e albws IS oFfe Fr o sifiwe

f?rwrﬁsafﬁa’aﬁﬁwm DNA SifEo!
3efq =4 |

Write short notes on :
(@) RNA—Types and functions

(b) Euchromatin and heterochromatin
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(v)

53 (ORR foraf ¢

. (@) RNA—3IR o5 Sis SR

(b) TCTH O ey

With the help of diagram describe the
ultrastructure of Golgibodies. Mention
their functions.

mw—ﬂaﬁﬂfﬁma@wnm
SO Bt |

Describe’ the wultrastructure of

‘eukaryotic cell with neat diagram. Write

the difference between prokaryotic and
eukaryotic cells.

foa Siifs AT @ 9 99 39 |

PR AF FALPACTLR (T NS
A Ao 14l |
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OPTION-B
Paper : BOT-RE-5026
( Economic Botany and Biotechnology )

1. Answer. the following questions : 1x7=7
TS SIS Beq fel g
(@) Name the major alkaloid found in black
pepper.

SIS (AT 0 Gt e Rieq i e |

(b) Menton a crop as a source of vegetable
protein.

Of¥es efbm Teor @R =1 T B |

(c) Define biotechnology.
SRR ke i

(d) What is the full form of RAPD ?
RAPD 3 5= 55t farp

(e) Cotton fibres develop from
TARTE T o[l Refe 5

(A What is gynogenesis ?
e &2
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/B

-

(@) What do you mean by molecular
phylogeny ?

wﬁwﬁqwqﬁm%w?

2.  Answer the following questions briefly :
\ \2)(4:8
O RIS OeF bAE B4
(@) | What is green tea ?
2 CISSHI 5% o

Mention the benefits of vegetable oil.

ql

N 2/ S (oo CARIROPTIE Seary) <51 |

\%‘L £ / ‘ 1 '
Al (c/ What is ELISA test ?

g ELISA #<wt o
| ( (@)

~ /

What is embryo cultyre ?

@l T4 I e g

3. Write notes on the following‘: (any three)
9x3=15

Y (BRl ol 2 (Rt fofny)

(@) Applications of proteomics and
genomics '

2B RS @i e e
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(IS T, (5, IS T, A ey
Wi CHcIIeR S Toie Res |

(b) Beans and their uses

TSR *P Wi 2301 G2 | ‘ ;
B ‘ (c/) What are different types of tea? Give

(c) DNA fingerprinting ] an account of processing and uses of
foama Rramfaieg | tea. - ;

(d) Importance of Bioinformatics ‘ | : s WW%%"W&W@WW

R e e p— - | SR [Rae |

(e) Somatic embryogenesis _"“.-',}/ P (d) Describe briefly the techniques of plant

s =1 Vgl tissue culture with its application.
WS e i PR ) ’
Y e TR (S SR SoATaifTel eI

k VYN
4. Answer the following : (any three) *«“’c,.a; A 59 et faa |

10%3=30 g™ Nk s 8
: ‘ (e) Give a general account of Indian spices
OolY 2HEIRE Tel ff-l'I?IT (et fefast) A with special referenc'e to clove and black

‘ pepper.

(@) What is the concept of centres of . ) - - ‘
origin ? Write a note on the origin of | | N i ﬁ?ﬁ: ﬁ\; .
wheat. Mention its morphology and | TEETIEO R *PICISS AN S i
‘uses. : () Describe the principle and mechanism
Tesifewe sRiel e (e Teoifen 90 9ol of polymerase chain reaction (PCR).
(Ol fordl | (Heg QI 1o o6 < Sl sifericae (b3 RiTaR T s aifdm By

41

(b) Give an account of Cotton mentioning
its botanical name, family, part used,
morphology and uses.
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OPTION-C
Paper : BOT-RE-5036

( Genetics and Plant Breeding )

(i)
(iii)

(iv)

()

(vi)

1. "Answer the following quéstions :  1x7=7
e -\ ﬁmm@mm |
(i) What is. the Mendel f"rst law of

inheritance ?

CTOLN gL 74 A mﬁm«vﬁﬁs?
What do you mean by gene allele ?
fom «ffifer Qe =B @y

Who coined the term mutation ?

FBCHe =01 AL I IR FA?

In which stage does. crossmg over takes

place ?

f@aﬁﬁmmwwﬁ%@iﬂ?

What is euploid ?

2023T [

Genotype of a dominant plant can be
determmed by

3 (Sem-5/CBCS) BOTRE 1/2/3/G 12
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mwm%ﬁma@ﬁl%@m%ﬁﬁﬁ«ﬁ
=R

(vi) What is Quantitative inheritance ?

- oIS IMTET e

2. Answet the following questions :  2x4=8

wore i ehRe Tes B &
(i) Define linkage.
Ao el fad | |
(i) What is inbreeding depres'si(')_n ?
ST 2
| (iii) What is té.utorﬂerism ?
- ol e
(i) What do you mean by centre of origin
of crop plants? -

W@ﬁ@ﬁ@aﬂﬁa L @ﬁwﬁs @1@9

, '3. Write short notes on any three of the

following : 5x3=15
were faat gt fofbrT 53 O o ¢
(i) Chi-square test
iz 3o e
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(@)

Mechanism of crossing over

ifo 31 RfFre afe

(i) Complete and incomplete linkage

A O ST sreerarel

(iv) Different types of gene mutation

(v)

RS o fom SerifRaen

Epistasis

I (6P

Answer any three of the following

questions :

10x3=30

TS Rzl fofat! eRiaR Bes ¢

(1)

(%)

What are haploids ? Discuss the role of
haploid in crop improvement.

2+8=10
Gl 52 PR =P [ Ao qpadem
e R GITIE S

Describe in details about the dlfferent

- types of aneuploids ?

fifon e Geied R zei3 29 |
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(v)
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(iii)

)

What is inversion ? Write in details
about paracentric and pericentric
inversion with the help of suitable
diagrams. 2+6+2=10

el 2 Ty foug EE cRIGhs
i (ARG TToRvA R & |

What is hybrid vigour ? Give an account
on the hybridization techniques.
2+8=10

59 *(fe & 2 FTe9e Wwwﬁﬂmﬁﬁaq
fozn |

Write a note on physical mutagens.
Differentiae between monogenic and
polygenic inheritance. 5+5=10

CerfoTTE [E <ol (Gl okl | waferay

O TR AR e Sl i

What are sex chromosome ? Describe
one sex chromosome linked syndrome
due to abberation in chromosome
number. 2+8=10

AR @V 2 (O F TG T WY e
Foe (A 9ol g [ 3@ =11
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